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1. The person who uses Wisk is not Roy or Sara.

2. The person who watched HBO is Sara.

3. Sara has a camera with fewer megapixels than the person who watched TBS.

4. The person with the 7.0 megapixel camera doesn't use Wisk.

5. The person with the 5.2 megapixel camera watched TNT.

6. The 5 people were  the person who watched Cinemax, America, the person who uses Wisk, the person with the 6.0
megapixel camera,  and the person who watched Showtime.

7. Roy has a camera with fewer megapixels than the person who watched TNT.

8. The person who watched Cinemax has a camera with more megapixels than the person who uses Gain.

9. Of the person who watched TNT and Tobias, one uses Gain and the other uses Biz.

10. Either the person with the 6.0 megapixel camera or the person with the 7.0 megapixel camera uses Tide.
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